MATH1040 Basic Mathematics Practice Problems 6

1. Answer each of the following questions, showing all working:

(1) Solve

—by = —110+ 9z
0= -9y — 63 + 36x

(2) Solve

—3y —9cosz = —9
Ty —8cosx = —8

given 0 < x < 271
(3) Do the lines —7y = —113 + 3z and —8 — 2z = —12y intersect? If so, find the point of intersection.

2. Answer each of the following questions, showing all working:

(1) Solve

-7y =—492x — 14
93 = 10y + 3«

(2) Solve

—dr -3y =24
—13z+ 9y = -3

(3) Do the lines 2y — 2 = —8z and 0 = —9y + 18 — 36z intersect? If so, find the point of intersection.

3. Answer each of the following questions, showing all working;:

(1) Solve

10y — 488 = 9z
—2y = 14z

(2) Solve

—8y+3tanz =75
—3y+4tanx = 31

given 0 <z < 27
(8) Do the lines —10y = 10z + 90 and 4y + 4x + 36 = 0 intersect? If so, find the point of intersection.

4. Answer each of the following questions, showing all working:

(1) Solve

dx 42y =2
11z — 9y = —67



(2) Solve

8z 4+ 8lny =0
3x —5lny =—8

(3) Do the lines 3x 4+ 4y = 54 and —13x + 7y = —88 intersect? If so, find the point of intersection.

5. Answer each of the following questions, showing all working:

(1) Solve

-3z —2y=-14
30z + 20y = 154

(2) Solve

2lny — 4z = 16
10lny + 9z = —36

(3) Do the lines 0 = —63 — 9z + 81y and 31 — 45y = —5x intersect? If so, find the point of intersection.



